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1.

Which of the following laws is not
related to heredity ?

1) Law of Similarity

2) Law of Variation

3) Law of Regression

4) Law of Progression

Which of the following is not a
performance test of intelligence ?
1) Koh's Block Design Test

2) Alexander's Pass Along Test

3) Saguine Form Board Test

4) Stanford-Binet Test

Which of the following is not an
objective type question ?

1) Matching questions

2) Analytical questions

3) Multiple choice questions

4) Blank space questions

According to Moral Development
theory of Piaget, adolescent period
is:

1) Stage of moral realism

2) Stage of morality constraint

3) Stage of heteronomous morality
4) Stage of autonomous morality

Which of the following
characteristics is not related to the
concrete operational stage of the
Cognitive Development theory
propounded by Piaget ?

1) Reversibility

2) Serialization

3) Animism

4) Conservation

P.T.O.
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6. Which statement is not correct in
context of individual differences ?
1) Two persons are not exactly

same.

2) Individual differences are
deviation in regards to
characteristics.

3) Individual differences
distinguish individuals in their
totality.

4) Individual differences are the
sole result of heredity.

7. When the lesson to be learned by
a child is long and difficult and
requires a lot of understanding,
then which method of learning will
be appropriate ?

1) Spaced method
2) Whole method
3) Massed method
4) Incidental method

8. Which teaching maxim 1is not

beneficial for the Ilearning
disabled children ?

1) Simple to complex

2) Abstract to concrete

3) Direct to indirect

4) Known to unknown

9. Which of the following is not a

principle of development ?

1) Development is the product of
heredity and environment.

2) Developmental pattern is
predictable.

3) Development follows linear
path.

4) Development proceeds from
general to specific.
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According to which psychologist,
the role of social and cultural factors
are important in the cognitive
development of children ?

1) Vygotsky

2) Piaget

3) Bruner

4) Hull

Which of the following is not a

common characteristic of social

development in adolescence ?

1) Harmonious relationship with
parents

2) New social grouping

3) Search for identity

4) Hero-worship

Which stages of Kohlberg's moral
development theory are not related
to level of conventional morality ?

(@) Individualism and exchange

(b) Good interpersonal relations

(c) Maintaining the social order

(d) Social contracts and individual
rights

Choose the correct code :

Code :

1) (@ & (b)

2) (®) & (o)

3) (@ & (d)

4) (©) & (9

Learning through mental

processes like attention and

reflection is called :

1) Imitative learning

2) Motor learning

3) Cognitive learning

4) Aiffective learning

P.T.O.
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Which teaching learning strategy is
most useful for students in context
of social learning ?

1) Field trip

2) Lecture

3) Experiment

4) Brain storming

In Pavlov's conditioning theory,

which factor does not positively

affect the conditioning between

natural and artificial stimuli ?

1) Appropriate timing of stimuli
presentation

2) Repetition of stimuli

3) Controlled environment

4) Lack of motive

Which of the following factors does
not affect the teaching learning
process ?

1) Physical appearance of teacher
2) Mental health of teacher

3) Content knowledge of teacher
4) Communication skills of teacher

Which of the following factor does

not influence the development of

child under environmental factors ?

1) Nutrition

2) Mental stress of the mother
during pregnancy

3) Accidents

4) Endocrine glands

'Law of use' and 'Law of disuse' is
related with which law of learning
according to Thorndike's learning
theory ?

1) Law of readiness

2) Law of exercise

3) Law of effect

4) Law of multiple response
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Which of the following pair is not

correct regarding motivational

theories and their proponents ?

Motivational Theories Proponent

1) Instinct theory Atkinson

2) Need Hierarchical Maslow
theory

3) Drive theory

4) Achievement
Motivation theory

Woodworth
Mc'Clelland

Inclusive Education means :

1) Education for socially deprived
children

2) Education for disabled children

3) Education for normal and
disabled children

4) Education for all children

Which of the following is not a
principle of effective learning ?

1) Motivation

2) Individual approach

3) Passive attendance

4) Feedback

According to Gagne, to what
highest level of learning should a
teacher strive to take students ?

1) Concept learning

2) Problem solving learning

3) Rule learning

4) Discrimination learning

Which three aspects of
intelligence are emphasized in the
triarchic theory of Sternberg ?
(a) Componential (b) Experiential
(c) Operational (d) Contextual
Choose the correct code :
Code :
1) (@), ®) & (c)
2) (b), (c) & (d)
3) (a), () & (d)
4) (@, (c) & (d)

P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

[8/A]

24. 4t Ty & eIfrmrat & e BE-E
Jferer s&AY YK 7o © 7
1) @
2) SUIRIHS e
3) AXE I
4) TERN T [

25. [hARET # Wigd AHEISTh Faer
Yo & fo @& e &1 =87 FiT
(a) g FIA
(b) TG
(c) Si&-
(d) Efgaiaar
D @W@®» 2) b)W
3) (@), )W ()4) (a),(c) T (d)

26. Haq Ud AUH GAHT W GE A

(a) TR JHEmd Q=
(b) SUgH @ d 9% e
R ISR

&Y
(c) A T Te-Arw AN 9w
TR BT
(d) Baq JAfeep U FUAT
7&] T F AT BT :
&<
1) (b) T (d)
2) (b) W ()
3) (@), () W (c)
4) (b),(c) W (d)

27. 98 [ S ‘e diE’ @ 9grar adl
g ol dEm & e el @ o1
qEErRT & WY iR giE
XA 8, I8 FEAN ©
1) fafdre fQren
2) Sicshier e

3) Ui farem
4) guash fen

[ Level-2 / 1207 ]

24.

25.

26.

21.

GET IT ON
Google Play

Which educational intervention is
not suitable for slow learners ?

1) Acceleration

2) Remedial teaching

3) Drill work

4) Cooperative teaching method

Choose the correct code for the
approved social behaviour pattern
in adolescence :

(a) Leadership skills

(b) Empathy

(c) Ego-centrism

(d) Stereotyping

Codes :

) @& @® 2)(b) & (@)

3) (@,Md) & (©)4) (), (c) & (d)

The true meaning of continuous

and comprehensive evaluation is :

(a) Taking frequent tests

(b) Taking continuous tests at
appropriate intervals

(c) To evaluate scholastic and co-
scholastic both aspects

(d) Measuring only educational
achievements

Choose the correct code :

Code :

1) (b) & (d)

2) (b) &(o)

3) (), (b) &(c)

4) (), (©) &)

The education which promotes
learning by doing' and ensures the
students interaction with their
environment to learn, that is known as :
1) Special education

2) Progressive education

3) Integrated education

4) Inclusive education
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Which teaching support material is
not useful for visually impaired
students ?

1) Braille materials
2) Talking books
3) Film strips

4) Embossed map

Choose the correct code of the
following factors, which affects
learning :

(a) Motivation

(b) Aptitude

(c¢) Interest

(d) Attention

Code :

1) (©)&(d)

2) (a), ()& (d)

3) (@ &(c)

4) (@), D), (c) &(d)

A learning difficulty that create
problem for a child to distinguish
letters and words is :

1) Dysplasticia
2) Dyslexia

3) Dysgraphia

4) Dyscalculia

[ Level-2 /1207 ]
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Direction : Answer the following questions by selecting the most appropriate option.

46. Choose the correct option that
gives the correct passive voice of
the given sentence :

Have they done the work ?

1) Have the work been done ?
2) Has the work been done ?
3) Had the work been done ?
4) Will the work be done ?

471. Choose the option that gives the
correct meaning of the phrasal
verb :

Turn out

1) to evict someone

2) to kill someone

3) toridicule someone

4) to give legal notice to someone

48. Fill in the blank with the most
appropriate modal auxiliary :
Your mother is seriously ill. You
........... leave for home at once.

(obligation)
1) needs 2) might
3) could 4) must

49. Choose the option that gives the
correct meaning of the given
phrasal verb :

Send for

1) start on a journey
2) reach to a decision
3) call someone in

4) improve

[ Level-2 / 1207 ]

50.

51.

52.

Change the narration to Reported
speech and choose the right option :

I said to him, "Do you know when
she will go home ?"

1) Itold him if he knew when she
will go home ?

2) I said to him that did he knew
when she would go home.

3) I asked him if he knew when
she would go home.

4) I said to him that did he know
when will she go home ?

Choose the part of sentence which
is incorrect :

Has Sachin / not breaked / the
&) ®)

record held / by Bradman who

© @)

made 10,000 runs in his career ?
1) A 2) B
3) C 4) D

Choose the correct option for the
given one word :

Sinecure
1) one who lives by himself

2) an office with no work but high
pay
3) surgery without anesthesia

4) cure by naturopathy
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Fill in the blank with the most
appropriate meaning of the
underlined idiom :

Rakesh had to deal with all his
problems by himself, because he
didn't want to depend on his fair
weather friends.

1) Friends who come from rich
family.

2) Friends who are loyal only
during a time of success.

3) Friends with whom one lived in
one's college time.

4) TFriends who no longer live
with you.

Choose the correct tense form to
fill in the blank :

She jumped off the train while it

1) moved
2) had moved
3) has moved

4) was moving

Choose the correct tense form to
fill in the blank :

The Headmaster ............ to meet
you.

1) want
2) wants
3) is wanting

4) was wanting

56.

51.

58.

59.

60.

GET IT ON
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[13/A]

Choose the correct option to fill in
the blank :

........... had the police reached
than the thieves fled.

1) Assoon as

2) No sooner

3) Scarcely

4) Aswell

Choose the correct preposition to
fill in the blank :

He told all .......... the incident.

1) between 2) among

3) Dbeside 4) about
Choose the most appropriate

preposition to fill in the blank :

I am going home the day ...........
tomorrow.

1) in 2) on

3) after 4) at

Choose the most appropriate
preposition to fill in the blank :
Mohan gazed ............ the sky in
the hope of rain.

1) at 2) unto

3) Dbesides 4) into

Choose the option that gives the
correct meaning of the given
phrasal verb :

Give in
1) distribute 2) deposit
3) donate 4) surrender

[ Level-2 /1207 ]
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61.

62.

63.

64.

65.

A, 7@ R | uftem # 8 {5 e
g T @ YoHK 2 fPl Tem © g
¥ gEHK 5 Rl T@an B, o 98
JEA fag & dedt § o e fRam
T fe B 7

1) SRU-UREH  2) ITR-giREm

3) IUC-T 4) Ry

qg fE He 9 ¥ 'PROJECT' &l
'CEOPRT' @1 'PLANE' & 'ELNP'
ferEr ST B, @ 'ORGANISED' &1 341
%S WM H {8 SRR foren S ?

1) ADEGIOSR 2) ADEGIROS
3) ADEGOIRS 4) ADEGIORS
qSh Bl Th Uik H, A 9@ T A
79 @1 B Il @% § 124 @M W
g, AR % WM H WER aRedH
e om B, @ A & 9 T @
22d] M & S 8, O U § g
qSH P G ® ¢

1) 27 2) 31
3) 33 4) 34

TF URaR H, A, X H U1 &, B, Y &
G R, AN X T Z B g Y &,

frafofed woei & & dF-A1 HH
fafyaq w0 @ @& 78 & ?
1) B,A & Tl ©
2) B % T P B
3) X,AHER
4) Y,Z P 98T
& T JEdr § 7o 6 © o
0,3, 9, 12, 36, 39, 42, 120, 360
1) 12 2) 39
3) 42 4) 360
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62.
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64.

65.

A travels 8 km from East to West and
turns right and travel 2 km. Now
again he turn right and travel 5 km. In
which direction is he now positioned
with reference to starting point ?

1) South-West 2) North-West

3) North-East 4) South-East

If 'PROJECT' is coded as 'CEOPRT'
and 'PLANE' is coded as 'ELNP' then
the 'ORGANISED' will be coded
as:

1) ADEGIOSR 2) ADEGIROS
3) ADEGOIRS 4) ADEGIORS

In a row of boys, A is 7th from the
left and B is 12th from the right. If
they interchange their positions A
becomes 22nd from the left. How
many total boys are there in a
row ?

1) 27 2) 31

3) 33 4) 34

In a family, A is the father of X, B is
the mother of Y. The sister of X and
Z is Y. Which of the following
statement is definitely not true ?

1) Bisthe wife of A

2) B has adaughter

3) XisthesonofA

4) Y isthe sister of Z

Find the wrong number in the
given series :

0,3,9, 12, 36, 39, 42, 120, 360

1) 12 2) 39

3) 42 4) 360
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e A 3T RRem F 8 Rt SR T

et TWH ot 6 fpHl aaiar & e
g SI-yd RS H gee 10 {6

aa?n% ar A Rt fog @ Reae

fg@rlﬂ%?

1) 0 fret 2) 8 Bt

3) 10 fat 4) 12 fFH

zri?maqﬁaﬁo‘eﬁqﬂﬁem(j?ﬁ

q7 & § 8 9 @ B, af S #e
% AV HE A 12 BA A T A @
foe fopom afat @t sTasgRar & ?

1) 6 2) 8
3) 10 4) 12

o1 o

1) 4 a9 2) 5 I
3) 6 aHI 4) 8 i
e Efa 9gye H

1) 6 2) 9

3) 10 4) 12

q g erge A T B, dfer @
ST &l ST T 5 : 2 T 3 : 4
%,sﬁﬁr%ra@aﬁﬁv?rzazmzﬁo‘m
T B @ 21 fR e @ € e
oy IS S 8, 3@ T8 M g A
H@HWWNIW\H@HIGW%?

1) 1:2 2) 2:1

3 2:3 4) 1:1

I 7 cosec O — 3 cot © = 7 T O
goH Tgeist § &, @ 7 cot 6 - 3
cosecH & UM T :

1) 3
3) 3/1

2) 5
4) 5/1
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If A walks 8 km South then turn
right and walks 6 km and again
turns North-East and walks 10 km.
How far is A from the starting
point ?

1) Okm 2) 8km

3) 10km 4) 12km

th
If 10 persons can complete (gj

of a work in 8 days, then how many
persons are required to complete
the remaining work in 12 days ?

1) 6 2) 8
3) 10 4) 12

The base of a right prism is a
triangle whose perimeter is 32 cm
and the inradius of the triangle is
6 cm. If the volume of the prism is
576 cc, then its height is :

1) 4 cm 2) 5 cm

3) 6 cm 4) 8 cm

If the number of diagonals of a
regular polygon is 27, then the
number of sides is :

1) 6 2) 9

3) 10 4) 12

In two alloys A and B, the ratio of
copper and zinc is 5 : 2 and 3 : 4
respectively. 7 kg of alloy A and 21
kg of the alloy B are mixed
together to form a new alloy. What
will be the ratio of copper and zinc
in the new alloy ?

) 1:2 2) 2:1

3) 2:3 4) 1:1

If 7 cosec 0 — 3 cot 6 = 7 where 0 is
in first quadrant, then the value of
7 cot 0 — 3 cosec O is equal to :

1) 3 2) 5

3) 3/1 4) 5/1

P.T.O.
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12,

13.

14,

15.

16.

11.

¢ T g ¥, T GHSTg Yl ABC
fafifed e s % ERSICHEII
gt © owd YEel 8 W aa
Pyt =i

1) fowmerg By

Uh GHMER, T a&) 15% o W
9T 2, 3R 399 39 18 BYY 3w
o 997 2dn, Ol A 18% & SN 39

I&] F F9 gA (W H) ®

1) 600 2) 540
3) 350 4) 380
Frefefed 2ot & Ja T © ¢
DBC, KIJ, QOP, _ ? , ZXY
1) VUW 2) USV
3) UTV 4) VTU
A S dEel H SRR 3§, A

ST G H AR 369 B, A A
et & A § ¢

1) 25 2) 21
3) 3l 4) 33

oo & ©F dred H o faee,
AR B 12 A JT AGA H 5

T B, @ AR IEH AVBA 36 &,
Y 2

1) 2706
3) 2796

2) 2736

4) 2766

gk A ‘¥ @7, B AN @', C
‘N &’ T D N HI YRR
HA Z, AW20C 12B8A2D 6
ENELEESE

1) 16 2) 18

3) 32 4) 36
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If an equilateral triangle ABC be
inscribed in a circle, then the
tangents at their vertices will form
another triangle is :

1) Scalene triangle

2) Isosceles triangle

3) Equilateral triangle

4) Right angled triangle

A shopkeeper sells an article at 15%
gain. Had he sold it for Rs. 18 more;
he would have gained 18%. The
cost price (in Rs.) of the article is :

1) 600 2) 540
3) 350 4) 380

The missing term of the following
series is:
DBC, KIJ, QOP, _ ? ,ZXY
1) VOW 2) USV
3) UTV 4) VTU

The difference between two
positive numbers is 3. If the sum of
their squares is 369, then sum of
the numbersis:
1) 25
3) 3l

2) 27
4) 33

In a division sum, the divisor is 12
times the quotient and 5 times the
remainder. If the remainder is 36,
then the dividend is :

1) 2706 2) 2736

3) 2796 4) 2766

If A denotes 'divided by', B denotes
'added to', C denotes 'subtracted
from' and D denotes 'multiplied
by, then 20 C 12 B8 A2 D 6 is
equal to :

1) 16 2) 18

3) 32 4) 36


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

18.

19.

80.
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i

Th A 12 fhelHIe @l gl 3
i ger, 18 fpaHie &l gl 9
gt g9 qUT 24 feHie @ gl 4
Reeit of =ver @ 9 &I &, @ FYol
g T F B AEd =9 B

1) 4 feHi/Aver  2) 4.2 [ /A
3) 4.4 fpHi/AvE 4) 4.5 AT /A0

Rt T fapedi § @ fqw & §@
I

1) 2) o

3) FER 4) Figh

gt 16-4=2,9-3=2,81-3=4
g, A 64—-4 F AN & :

1) 3 2) 2

3) 4 4) 6

1857 & fagle & M, Ffoag o
9 fheq Usas H fofesr Remi W
STHHOT foHar ?

1) THIA A

2) THM Il

3) WX e

4) =Y M

R B AR qeiedl & gy ®
1) SREA gEar |§

2) Rgpa gu |

3) R & 9wl HEar 4@

4) T @ =R SEar

gﬁ?aw ¥ s @ 3% e Rem
1)‘@1’[?; 2) fiER

3) WewTS 4) ST

g & ot dedia & ?

1) 95 2) 49

3) 143 4) 14
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A person covers 12 km at 3 km/hr,
18 km at 9 km/hr and 24 km at 4
km/hr. The average speed in
covering the whole distance is :

1) 4 km/hr
3) 4.4 km/hr

2) 4.2km/hr
4) 4.5km/hr

Find the odd word from the given
alternatives :
1) Violin
3) Guitar

2) Harp
4) TFlute

If16-4=2,9-3=2,81-3=4,
then the value of 64 — 4 is :

1) 3 2) 2

3) 4 4) 6

During the revolt of 1857, who
among the ifollowing attacked
British establishments in Rohtak ?
1) Tafzal Husain

2) Imam Ali

3) Mohar Singh

4) Harsukh Rai

The Morni hills of Haryana belongs
to:

1) Aravalli range

2) Hindukush range

3) Outer range of Himalayas
4) Inner range of Himalayas

In Haryana, where the Vulture
Conservation Centre is located ?

1) Jind 2) Pinjore

3) Mahendragarh 4) Ambala

How many Tehsils are there in
Haryana ?
1) 95
3) 143

2) 49
4) 14

P.T.O.
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85.

86.

81.

88.

89.

90.

1) aNba
3) &

2) gMad
4) IR

godlotdodio & A, S HIK
7 gRaen & Touue a9 R

1) Sfo To R0 fFEag

2) o qIwR g S

3) i flo THo Tekadi

4) & HEEN UH

TqAq B HEA Bl OTEE IR
BECll d UiRAYT Y B BRAmm
AHN &R I o V&l qoT ®

1) T BET AT AN

gamn & fefofed & & @ &
O A0 & AW d AT g 7

1) 96T T
2) e MG A
3) &1 AN WY
4) & GO T

85.

86.

81.

88.

89.

90.
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In which district of Haryana, the
Khelo India Women's Archery
ranking competition was organised ?
1) Sonipat
3) Karnal

2) Panipat
4) Yamunanagar

The UPSC Chairman, who
subsequently became the Governor
of Haryana :

1) Dr. A.R. Kidwai

2) Shri Muzaffar Husain Berney
3) ShriB. N. Chakravarti
4) Shri Mahabir Prasad

The Scheme, which is being run by
the Haryana government to
replace paddy crop with more
tradition cropsis:

1) Meri Fasal Mera Byora

2) Meri Virasat

3) Mera Pani Meri Virasat

4) Hamara Dhan

Where in the Haryana, the National
Institute of Fashion Technology is
located ?

1) Panipat

3) Panchkula

2) Ambala
4) Kurukshetra

Who is the Chief Information
Officer of Haryana ?

1) Smt. Jyoti Arora

2) Dr. Jagbir Singh

3) Shri Vijay Vardhan

4) Smt. Kamaldeep Bhandari

Who among the following Sages of
Haryana was popularly known as
Puran Bhagat ?

1) Baba Mast Nath

2) Baba Gorakh Nath

3) Baba Chaurangi Nath
4) Baba Puran Nath

[ Level-2 / 1207 ]
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Direction : Answer the following questions by selecting the most appropriate option.
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91.

92.

93.

94.

Fr=ifaiaa &t gafad i
I & i fqefm
. 9 5% i, R
fpeT~e
EE1G]

. FAIHR % iii. HITAHT

IV. q9E ST iv. FIH b
78l faehea & geu

1) i M Iv IV
2) i IMii I IV-iv
3) M IlMv I IV-iid
4) v IME I IV
PR o6 1 36 9 & <t ST ST ®
1) FqEr 4

2) Fe+ER afq

3) aRER afa

4) Iepa D

frfafeg & @ a9-@f Reew @
IR T H R qard &
ST 787 el & 7

1) TSIgd ST

2) 98 ¥ TR B

3) frs R

4) SUgER Y Ahh

frafofag & @ a9-of deAsiaan
et # & fog O fafy @
fafaear 78f 2 ?

1) fafag wifq fafy

2) H AR fafy

3) JTgHT fafy
4) s fafy
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91.

92.

93.

94.

Match the following :

I.  Huxley i.  Vitamin

II. Robert Hook ii. Sliding
filament
theory

III. Clasimir Funk iii. Cell

IV. Robert Brown iv. Cell Nucleus

Choose the correct option :

1) il II4 I-iv  IV-ii
2) I-ii M- I IV-iv
3) I-i [I-iv  II-i1 IV-iii
4) Isiv  II-ii II-ii IV-i

Agnisar Kriya also known as :
1) Vatsar Dhauti

2) Vahnisar Dhauti

3) Varisar Dhauti

4) Bahishkrit Dhauti

Which one of the following does not
come under personal preparation in
presentation technique of teacher ?

1) Commanding voice

2) Well dress up

3) Pleasing manners

4) Proper safety measures

Which one of the following is not
the variation of continuous method
for improving endurance ?

1) Variable pace method

2) Slow continuous method

3) Repetition method

4) Fartlek method

P.T.O.
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95.

96.

97.

98.

99.

100.

dIc % foiw RICEfRR &, c a7 o1 B :

1) FHiewH 2) FUIE

3) R 4) FESIH
DF-E OO ‘A & R &
T & 7

1) siaa

2) 9l

3) ISt MeA

4) 3o

fr=fafeg & @ aF-a1 e 3 o

SREATERROT B U =X 787 & ¢
1) BT

2) ST

3) ARG ST &

4) HIA

H-G1 TG FH-Hf R B s

4) Tlg

fFrfofad & & SM-a1 S IR #
R 787 & ?
1) kgl H HE

2) WX & Fasiad #1 fema

3) SUERT AR FIIERT H R
4) YiREr @ M @ e
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In RICE method for injury, C stand
for:

1) Contraction 2) Compression
3) Capacity 4) Concentration

Which Pranayam
disorders of the 'Dhatu' ?
1) Sheetali

2) Bhramari

3) Nadi Shodhan

4) Ujjayi

removes

Which one of the following is not a
step of presentation for a teacher ?

1) Orientation

2) Exploration

3) Maintaining record

4) Recitation

Which injury sometimes called Mild
Head Injury ?

1) Impact fracture

2) Depressed fracture

3) Laceration

4) Concussion

Injury in which skin and underlying
tissues are cut or torn :

1) Hematoma

2) Contusion

3) Laceration

4) Abrasion

Which one of the following is not

the principle of sports training ?

1) Principle of cyclicity

2) Principle of progression of
load

3) Principle of use and disuse

4) Principle of continuity of
training
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101.

102.

103.

104.

105.

Frefafad ®oFi &1 &M@ dieq
AR @& e &1 =IgT Hf
T (1) : OTRYTEEHE H ST
Reema, Reema weamar 2

HF (i) : STRUSIH Ha% & & o
ofy gX erferdt @ Sea

@ -

1) ®ad & (i) Tel 2|

2) Al HIT T R

3) dad HA (i) T Bl

4) ! HIF TqE T B

Wfafrs @@ @ F 3@ 99 4 99
S

1) WEihas

2) U9 aE B

3) WH A=fad o

4) P 9

Freifafad & & @iF-a1 el gafad
&R ?

1) RS @ - 77630 Jo

2) WERET @@ - 586 3o Jo

3) Ffma @@ - 573 30 Yo

4) TMHIT @@ - 58030 Yo
EIRIGCAR RIS I U I I Ca N EE
qr

1) 1904 # 2) 1908 #

3) 1912 4) 1920

frr 4 9@ 9 S 9@ & 99
g @ O B @l Al & €9
§ gftaiyd @ea § 7
1) foepes i@
2) SR STk
3) i Hewigiaar
4) weAsfaar g
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Read the statements carefully and
choose the correct option :
Statement (i) : Overstretching of
ligament is called strain.
Statement (ii) Ligament are
tissues that connect bones at a joint.
Options :

1) Only statement (i) is correct.

2) Both statements are correct.

3) Only statement (ii) is correct.

4) Both statements are incorrect.

Paralympics Games earlier known
as:

1) Spartakiad

2) Pan Hellenic Games

3) Stoke Mandeville Games

4) Disabled Games

Which one of the following pair is
not correctly matched ?

1) Olympic Games — 776 B.C.

2) Pythian Games -586 B.C.

3) Nemean Games - 573 B.C.

4) Isthmian Games - 580 B.C.

The Olympic charter was first

published in :
1) 1904 2) 1908
3) 1912 4) 1920

Which one of the following is
defined as the ability to overcome
resistance with high speed ?

1) Explosive strength

2) Maximum strength

3) Strength endurance

4) Endurance strength

P.T.O.
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106.

107.

108.

109.

110.

111.

R #9 f50 @a § gafed & 7

1) i 2) T w fE
3) Wics & 4) HE}

TS ST Ad o 5 3=
g % ST 1 B B ?

1) I AFC AR O S
2) T8 HAd
3) {3 ey
4) T HARE

I PR A @F B [T BE TR B
%, O 7 b TR SIRBRer ® 7

1) I&

2) D

3) Uiy

4) 91 g ATARD &

Yo FF 9 d@fF W eREd & &9
ﬁzﬁrﬁaﬂ‘cﬁ%?
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Sudiraman Cup is associated with
which game ?

1) Badminton 2) Table Tennis
3) TField Hockey 4) Soccer

National anti
functions under
Ministry ?

1) Ministry of Youth Affairs & Sports
2) Ministry of Home Affairs

3) Ministry of Education

4) Ministry of Defence

doping agency
which Union

If a person perform a behaviour for its
own sake, which type of motivation is it ?
1) Extrinsic

2) Intrinsic

3) Achievement

4) Extrinsic and Intrinsic both

Rotator Cuff work as a stabilizer of
which joint ?

1) Hip Joint

2) Knee Joint

3) Elbow Joint

4) Shoulder Joint

In which teaching method students
are given an opportunity to perform
in their own time ?

1) Imitation method

2) Demonstration method

3) At-will method

4) Command method

Pes Planus is another name of which
postural deformity ?

1) Knock knee

2) Flat foot

3) Bowleg

4) Kyphosis
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112.

113.

114.

115.

116.

1117.

o 1 AfaRed ot &l s fhem
fear ?

1) e TR AR Ry

2) Sito dlo S=go Uig®

3) & I

4) o @AW B

THEIRAAr Bl AFar § HH SIEER
& R TR T e B ?

1) WIS 0T

2) UGS e

3) few wEfHE TR

4) GHIE TE0

P 3§ @ A-d ofT 7 ad
it 1w B o B 7

1) g 2) difq
3) Hifr 4) Sfy

frffeg & @ @&9-@ g oiR
faepra @1 frara 7@ e ?

1) 99 iaue & e

2) 9MY 9 fafire fearett @1 Rera

3) TR 9+g & f¥ar
4) el i s

g N I & T Bl ©

1) JWih I Td T H OFER
ST BT B

2) IOIAD S Sced BT gl

3) Il Heer Sclfed H Bl

4) SOE I R I MG AN
Saed HT B

T & foeeal § Reies @ @
9 B UE B 7

1) M T8 J9ed

2) Tefam I

3) TeH-AYH

4) EAYST HUe
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Who gave Surplus Energy theory of
play ?

1) Herbert Spencer & Schiller

2) G.P.W. Patrick

3) Karl Groos

4) G. Stanley Hall

Decrease in ability to concentrate is
which type of symptoms of overload ?
1) Psychic symptoms

2) Performance symptoms

3) Somatic functional symptoms
4) Social symptoms

Which one of the following is a
process of cleaning the intestine
and colon ?
1) Basti
3) Nauli

2) Dhauti
4) Neti

Which one of the following is not the

principle of growth and development ?

1) Principle of uniform pattern

2) Principle of general & specific
responses

3) Principle of interrelation

4) Principle of clarity

When the Axis is close to the force :

1) Lever produces speed & range
of motion.

2) Lever produces force motion.

3) Lever produces balance.

4) Lever produces both speed
and force motion.

Who was the founder of a system of
Gymnastics in schools of Germany ?
1) Johan Bernard Basedow

2) Ludwing John

3) Guts-Muths

4) Immanuel Kant

P.T.O.
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Arrange in correct sequence
(Superior to inferior)

1. Bronchi

Bronchioles

Larynx

Pharynx

. Trachea

Choose the correct option :
1) 4,3,5,1,2

2) 4,5,3,2,1

3) 3,4,5,1,2

4) 5,3,4,1,2

SIS

Read the statements carefully and
choose the correct option :

Statement (i) : Head forward &
Backward is movement of I class
lever.

Statement (ii) Biceps curl is
example of I class lever.

Statement (iii) Lateral raises

exercise is example of III class

lever.

Options :

1) Only statements (i) and (ii) are
correct.

2) Only statements (i) and (iii)
are correct.

3) Only statements (ii) and (iii)
are correct.

4) All statements are correct.

Who founded Bihar School of Yoga' ?

1) Swami Satyanand Saraswati

2) Swami Shivananda Saraswati

3) Swami Niranjanananda Saraswati

4) Swami Satyasangananda
Saraswati
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If 17 teams are in the tournament,
how many teams get place in
second half ?

) 9 2) 8
3) 1 4) 10
Pedagogy is the study of :

1) Learning process
2) Teaching methods
3) Guiding students
4) Education

Which one of the following movement
occur between tarsal bones ?

1) Dorsi flexion

2) Supination

3) Medial rotation

4) Inversion

Who banned the Ancient Olympic
Games ?

1) Caracalla

2) Majorian

3) Magnus Maximus

4) Theodosiusl

Which one of the following is not
the major objective of extramural
competition ?

1) To bring laurels to the institution
by registering victory.

2) To develop brotherhood and
friendship among
participating institutions.

3) To provide optimal opportunity
to greater number of students
for acquiring the skill and art of
organising & administering.

4) To encourage
interaction among teams.

P.T.O.
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Which of the following disorder occur
in adults due to prolonged deficiency
of Vitamin D ?

1) Rickets

2) Osteoporosis

3) Osteomalacia

4) Osteoarthritis

On which Asana 'Om Khagaya
Namah' Mantra is chanted during
Suryanamaskar ?

1) Ashwa Sanchalanasan

2) Ashtanga Namaskara

3) Parvatasana

4) Bhujangasana

Which one of the following is not an

objective of intramural competition ?

1) Providing opportunity to every
student to participate in game
according to his interest.

2) To develop the feeling of

cooperation among the
students.

3) To provide opportunity to
students to roaming here and
there.

4) To locate sports talents.

How many essential Amino Acids must
be available in diet ?

1) 9 Amino Acids

2) 20 Amino Acids

3) 12 Amino Acids

4) 17 Amino Acids
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Which teaching method of the
following is least useful in Physical
Education and Sports ?

1) Command method

2) Demonstration method

3) Discussion methods

4) Project method

Which system protect us from
diseases ?

1) Lymphatic system

2) Nervous system

3) Cardiovascular system

4) Urinary system

Which
procedure for tracking a motor task ?
1) Skill 2) Style

3) Technique 4) Tactics

is defined as the motor

Who is associated with Recapitulation
theory of play ?

1) Karl Groos

2) G.P.W. Patrick

3) G. Stanley Hall

4) Von Schiller

Which one of the following is an
example of Bi-Axial Joint ?

1) Gliding joint

2) Hinge joint

3) Ball & Socket joint

4) Condyloid joint

Which speed ability do a single
movement in minimum of time ?

1) Acceleration ability

2) Locomotor ability

3) Speed endurance

4) Movement speed

P.T.O.
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Match the following :
I. Operant i  Wolfgang
conditioning Kohlar
II. Classical ii. E.L. Thorndike
conditioning
II. Trial & Error iii. Ivan Pavlov
method
IV. Insight theory iv. B.F. Skinner
of learning
Choose the correct option :
1) Iliv  II-ii II-i IV-d
2) I-i [M-ii M- IV-iv
3) I-iv II-i I-iii  IV-ii
4) i IMii v IV

Which one of the following statement

is false about ascorbic acid ?

1) Ascorbic acid is natural water
soluble vitamin.

2) Itis an antioxidant agent.

3) It does mnot participate in
fighting bacterial infection.

4) It works for formation of
collagen in fibrous tissue.

Which postural deformity can
occur due to Spina Bifida ?

1) Lordosis

2) Bowleg

3) Knock knee

4) Kyphosis

According to body mass index
which range  comes
overweight category ?

1) Below 18.5

2) 18.5to024.9

3) 25t029.9

4) 30 and greater

under
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Which is conical movement ?
1) Inward rotation

2) Outward rotation

3) Inversion

4) Circumduction

Which breathing utilises the middle
lobes of the lungs by expanding
and contracting the rib cage ?

1) Thoracic breathing

2) Abdominal breathing

3) Natural breathing

4) Clavicular breathing

If forearm is being extended by the
triceps muscle against a resistance,
then which type of lever itis ?

1) Third class lever

2) First classlever

3) Second class lever

4) First & Second class lever

Read the statements carefully and

choose the correct option :

Statement (i) : Immovable joint is

also known as cartilaginous joint.

Statement (ii) : Amphiarthrosis is a

cartilaginous joint.

Statement (iii) : Synovial joint is

diarthrosis joint.

Options :

1) Only statements (i) and (ii) are
correct.

2) Only statements (ii) and (iii)
are correct.

3) All statements are correct.

4) Only statements (i) and (iii)
are correct.

When was Conditioned Response

theory propounded ?
1) 1902 2) 1904
3) 1906 4) 1908

P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

[30/A]

145. TEIqAg 9% H SUN TSESR 9%
@R A dE s ?

1) dfed 2) A
3) g 4) WMWY

146. YRHITELH § T B
1) fahas ag
2) &M
3) SiferdIoT ROl
4) IR % e

147. FYX =M § LAN H IO S&9
T BT & 7
1) e THRE Aeah
2) Wb TRAT e
3) W USLYH wedsh

4) e TIATA D

148. grsai-sﬁﬁﬁw%&rﬁ?rww
?
1) 24 99
2) 28 f{a=r
3) 28 SR
4) 04 HEY

149. frefafgd & @ fpg Uyafesq #
M- SUdey & U egeEg
JUEHR 2022 § TG f6ar o § 7
1) “UER [

2) X eIgT T&T
3) oifaft et
4) dlo Hlo T

150. HN-9 JTeATh O bl § ST
R
1) SARrYs ad
2) UERET G
3) I T
4) e ©d

145.

146.

141.

148.

149.

150.

GET IT ON
Google Play

Adolescence word is derived from
adolescere, from which language is
it ?

1) Latin
3) French

2) Greek
4) Spanish

Supercompensation means :
1) Second wind

2) Fatigue

3) Oxygen debt

4) Adaptation to load

What is the full form of LAN in
computer terminology ?

1) Local Access Network

2) Local Area Network

3) Local Adaptation Network

4) Local Available Network

On which day World Rabies Day is
observed ?

1) 24th March

2) 28th September

3) 28th July

4) 04th February

Who among the following is
conferred with Dhyanchand Award
for Lifetime Achievement 2022 in
athletics ?

1) Dharamvir Singh

2) Nir Bahadur Gurung

3) Ashwini Akkunji

4) B.C. Suresh

Which Panhellenic
organised at Delphi ?

1) Olympic Games

2) Pythian Games

3) Isthmian Games

4) Nemean Games

games
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